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101. Consider the following statements : 

(i) The closure of Atria ventricular valves result in "lubb" sound. 

(ii) The closure of semilunar valves result in "dubb" sound. 

Choose the right answer. 

(A) 

(B) 

(C) 

..)'f> 

(i) is correct and (ii) is wrong 

(i) is wrong and (ii) is correct 

Both (i) and (ii) are wrong 

Both (i) and (ii) are correct 

£~s;aiBTL Gl.Hr.$,$huri.Js;mw.$ s;ru~ : 

(i) 'JL..ITlGUJrr Grum~ITl®Q>rrir rurrQ>~s;w ~Gru{llrrQ> "Q>u" ~m.!D ~rol G{lirrm!J,)I£.!D~· 

(ii) ~mrJB= e:J1~1J rurrQ>Gl..ls;w e!P®ru{llrrQ.l "Lu" ~m!D 5lrol G~rrmw£.!D@· 

e:ITlUJITQT ~Q)LQ)UJ~ G$fiiT)iiG{li@.$s;~t.b. 

(A) (i) e:ITl (ii) ~rutp~ 

(B) (i) {liQJ!J,)I (ii) e:IT1 

(C) (i) LDJDgJitb (ii) ~ruWl 

(D) (i) tn!DWJtb (ii) 661 

102. Name the vitamin and mineral necessary for blood clotting 

(A) 

(B) 

"' (D) 

Vitamin D arid Calcium 

Vitamin B and Sodium 

Vitamin K and Calcium 

Vitamin C and Iodine 

~IJ~{Dtb 2..m!D{li§2JB;@i ~ru61UJwrrm mruL..LuSlm LDWiJ,)Itb {lilT~ ~t.umu ({ll~tnp;m{li) GuUJITl(&) 

(A) mrul...LuSl6irr D LD!D.(l)Jtb s;rrru61UJtb 

(B) QlruL..LuSlm B tn£i>!J,)Itb Ge:rr~UJt.b 

(C) mruL.LuSl6irr K LDlD!J,)ItD s;rrQ>61UJtb 

(D) mruL..u.6lm C w!Dww ~GUJrrtq..m 
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103. Choose the correct order of the parts marked in the diagram. 

3'0H 

5'P 

1 

2 

3 

~ (1) TUC loop (2) Anticodon loop (3) DHU loop 

(B) (1) Anticodon loop (2) TUC loop (3) DHU loop 

(C) (1) TUC loop (2) DHU loop (3) Anticodon loop 

(D) (1) DHU loop (2) Anticodon loop (3) TUC loop 

3'0H 

5'P 

1 

t-------~2 

'-----------~3 

(A) (1) lq...ll..j . .f.l. QJ~6TTU.JtD . (2) 6TtbJrre!.srrLrr~ QJ~mwtb (3) !q...G;r.f.lJ..j. QJ~6TTU.JtD 

(B) (1) 6T~ire!6;ITLIT~ QJ~OOU.JtD (2) !q...lJ..j.81. QJ~OOU.JtD (3) lq...G;r6.ll..j . QJ~6TTU.Jt0 

(C) (1) lq...ll..j.5l. QJQ>6TTU.JtD (2) ~q.. . G;r8:.tJ..l. QJQ>6TTU.JtD (3) 6T~rra.srrLrr~ QJ~mwtb 

(D) (1) tq...6T8=.ll..j. QJEI)6TflJ..ltD {2) G;T tbJ ITC.srr L rr ~ QJ 6!>6TTUJ tb (3) !q... ll..j . .f.l. QJEI)6TTUJtD 

1t 23 JTST3 
[Turn over 



104. Name the gas which is evolved during photosynthesis 

(A) Ca rbondioxide (B) Nitrogen 

(C) Hydrogen .p1f Oxygen 

~mlB:aeir.$~s;uSlQ-r aurr~ GaH>IfluSlu.Ju(b)Lb.QJITlL.l ror~? 

(A) s;rrrru6irr-Q>L -~d;Q>QU(b) (B) Q) .!!> LIJ~ 6irr 

(C) m~L.JJ~m (D) ~a;$1~m 

105. Match the following : 

(a) August Offer 1. 1944 

(b) C.R. Formula 2. 1945 

(c) Wavell Plan 3. 1946 

(d) Interim Government 4. 1940 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 1 2 4 

J'l 4 1 2 3 

(D) 1 3 4 2 

Qurr®~§Js;: 

(a) qj,s;m>L. 6~ms; 1. 1944 

(b) C.R. ~LLLD 2. 1945 

(c) aQJQJQJ ~LLLD 3. 1946 

(d) ~mLMrT6\.1 ~IJ8'ITrf.Js;lb 4. 1940 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 1 2 4 

(C) 4 1 2 3 

(D) 1 3 4 2 
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106. Match the following: 

(a) Nehru Report 

(b) Second Round Table Conference 

(c) Individual Satyagraha 

(d) Lord Attlee's Announcement 

(a) (b) (c) (d) 

.A> 2 4 1 3 

(B) 4 2 1 3 

(C) 2 4 3 1 

(D) 3 2 1 4 

£~.$e;6liGT.u;u!i>a>!D Gurr®~~e; : 

(a) <:p;(!!) ~!Dld;Q>e; 

(b) il!J61iG'rLrrQJ~ QJLL<:lDQlm lDrTif>rT~ 

(c) )'D~If>Uir ~11Jrr.$l!Jc$LD 

(d) ~ L..Q$1 tS11]'~6))16N c!>!.o5l6))1 u Ll 

(a) (b) (c) (d) 

(A) 2 4 1 3 

(B) 4 2 1 3 

(C) 2 4 3 1 

(D) 3 2 1 4 

1t 

1. 
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1. 

2. 

3. 

4. 

25 

1940 

1928 

1946 

1931 

1940 

1928 

1946 

1931 
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107. Consider the following statements : 

Assertion (A) : V.O. Chidambararn Pillai established Swadeshi Steam Navigation 
Company in 1910. 

Reason (R) : V.O. Chidambaram Pillai is called as Kappalottiya Tamilan. 

(A) Both (A) and (R) are true 

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A) 

(C) (A) is true (R) is false 

(D) (A) is false (R) is true 

: 1910-~L.O ~G!Rrr~ auL. 8l~Lbu1JLD t5lmmQT ~~.$ e;uuro s;L.OQu~mUJ @GU.$~mrrir. 

: s;uuGrurrL-~.q.UJ ~L.6l1:9~ ~~w QJ .L . 8l~L.OurJl.b t5lmmGTT ~m1:9.$s;uu~~!Drrrr. 

(A) (A) LD!f>WJL.b (R) .@IJ6liN(B\L.b ~6WmLD 

(B) (A) LD!f>WJL.b (R) .@IJ6W@Lb ~6WmLD ~mrrro (A)-~.$® lfrfiUJrrm Ei'!SlQT.$s;Lb (R) .@romQ) 

(C) (A) ~6WmLD (R) ~GU!DrrmmGU 

.jl6' (A) ~GUJDrrmmGU (R) ~6WmLDUJrrmmGU 

108. Point out the wrong statement/statements in the following : 

(i) V.O.C. born at Ettayapuram. 

(ii) Annie Besant started Theosophical Society. 

(iii) Bharathiyar died at Pondicherry. 

(iv) E.V.R. started Self-Respect Movement. 

(A) (i), (iii) and (iv) (B) (ii), (iii) and (iv) 

(C) (i), (ii) and (iv) ~ (i), (ii) and (iii) 

£~8;e;mrrL Bn.JD!OJB>rotflli> ~GU)Drrmm~B: arL-~.q.S;arrrL-L~Lb : 

(i) GU .L.8l. ~LLUJ41J~~Q) t5l!Dfr,~rrir. 

(ii) ~~~ Gu~L... t.SliJLDLO (§ITm c'fQlUQlUJ~ Gwrui.J~mrrrr. 

(iii) UITIJ~UJITrT urrmrrtq.8:Gc'frflt6)Q) lDIJGm"lD6nL.[i,tDITrT. 

(iv) arUJ tnrflUJrrm~ .@UJB;a;~m~ rr-.GGU.IJIT. G~rrLriu.$lmrrir. 

(A) (i), (iii) LOJDt!)JLD (iv) 

(C) (i), (ii) LDJD!OJLD (iv) 

JTST3 26 

(B) (ii), (iii) LOJDWJLD (iv) 

(D) (i), (ii) LDJDWJLD (iii) 
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109. Which of the following is incorrectly matched? 

(A) Agricultural crops Green Revolution 

(B) Eggs and poultry White Revolution 

(C) Marine products Blue Revolution 

(D) Horticulture Golden Revolution 

t.S)Q£QJ(!?QJ6a'TQJJDJ,!;)Iffi GurrQ?]i>p;rr~~ tOr@? 

(A) (!QJffirT~ uuSlir.g;m U8iQ)lD 41JLil 

~ @LQlL LDJDJ.PILD C:s;rr~QJmiru4 Q QJQ/GTQ>LD 41JL..61 

(C)· s;u;i.><'frrri" QurrQ?L..s;m ~~ 41JL..il 

(D) C:~rrL..L.$ffiQ>Q) p;rt.J.g; 41J'Lil 

110. Consider the following and select the false ones : 

1t 

I. India's food problem is concerned with demand and supply of food grains. 

II. India's food problem is concerned with quality, distribution and economic reasons. 

III. India's food problem is concerned with procurement of food grains. 

IV. India's food problem is concerned with improper distribution. 

(A) I and II false 

(C) III and IV false 

27 

(B) IV alone false 

(D) 1 and III false 
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111. Consider the following table : 

Year: 1973-74 1987-88 I 993-94 1999-2000 

Kumber of Poor in India (in million): 321 307 320 260 

The year in which number of poor in India a sharp increase over that of the preceding 
year 1s 

(A) 1973-74 

(C) . 1993-94 

QJ@LLD: 

(B) 1987-88 

(D) 1999-2000 

1973-74 1987-88 1993-94 1999-2000 

321 307 320 260 . 

~Itfl QJ(!9Ltb, ~fJQr Qfl,ti>m~llJ 6l.JQ9L~Q>~8; e;rrL..tq.@JJtb ~~~11Jrr6l5lro ~W61>LDu.Slro !L'*rroQJrre;GTflQr 

~@r~8;Q'le; ~~e;rllP,~'*r~~? 

(A) 1973-74 

1993-94 

· 112. Consider the following statements : 

(B) 1987-88 

(D) 1999-2000 

Assertion (A) : After the completion of the third five year plan 'Plan Holiday' was given. 

Reason (R) The third five year plan was affected by India-China war and 
India-Pakistan wars. 

Select your answer according to the coding scheme given below : 

(A) Both (A) and (R) are false 

(C) (A) is true and (R) is false 

(B) (A) is false an·d (R) is true 

(D) Both (A) and (R) are true 

Bfi.JD!J)I (A) · · ~QrjDITtb ~fliT~@ ~L..Ltb JblmJDG6UJD!DUULL t.Sl!D@) . ~LL 6l5l@Qfl61l!D8;e;rrrutb 

t.SlQrUj])jDUULL~. 

(Y>QrjDITtb ~Jtfbrr~{1) ~LLW ~,ti>~llJIT-660TrT aurrfil60TrT~tD. ~,ti>~llJIT-UrTct1Gffi~rr6Uf 
aurrfilmrr~tb u IT ~B;a;uu LL~ 

~QJd>.(!)IQ-r ~~ 6rfl ~601 ~ir~rr~8;e;~tb: 

(A) (A) LDJD!J)ItD (R) ~QJjDIT60TQ)QJ 

(C) (A) 6rfl LDJD!J)ItD (R) ~QJgll 

JTST3 

(B) (A) f16UWJ LDJD!J)IW (R) 6rll 

Jll" (A) LDJD!J)Itb (R) 6rfli1Jrr601Q>QJ 
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113. Assertion (A) : To re.duce the high tides of sea during storm oil is poured around the ship. 

Reason (R) Surface tension of oil is Jess than sea water, reduces the wrath of waves. 

(A) A is correct R is wrong ~ Both A and R are correct 

(C) R is correct A is wrong (D) Both A and R are wrong 

L4UJ~araurr~ <:!)fQ)a>s;rol~ 112....UJIJ~Q}~ ®"'!DM s;uug,a>6 sr!i>!Dl ~>rooGfmti.J 

~!i>!J>uu@.$l!D~ · 

s;ng~t.b (R) ~>r~Q~uSlm UIJUl-4 ~@~Ql.!f s;L..E;\> ~rflar UIJU'-1 .@@~Q).!fQlUJ ~L..B; @>"'!D6tl· 

<:!)fQ>Q)uSI~ 6!i>!D~"'~ ®"'!DB>®t.b. 

(A) A urfl R )'bQ.Jl!)J (B) A ID!i>g)!t.b R urfl 

(C) R urfl A ~Q.JgJJ (D) A ID!i>ll)IU> R .@CJ~@U> ~QJ!J) 

114. The property of attraction or repulsion between charged bodies is used in 

(A) A.C. Generator ~ Electrostatic paint spraying 

(C) Potentiometer (D) Metre Bridge 

L.Sl6bTQJ@QJEl!TQ.JlDg;)JQr ~>r~Q> L.616b"r®JTLL..ri.Js;~8;.$)Q)L\1UJ fLfmiJUu@t.b ~a>B>® lDJDIDJt.b FFiru4 6lS)Q>6 

uUJaru@Sii!D~? 

115. The time periods of two. simple pendulum are in the ratio 2 : 1. The corresponding ratio of 
their lengths is 

.Jtl'() 4 : 1 

(C) 1 : 1 

(B) 1: 4 

(D) 1 : 2 

.@IJ~@ ~ml ~uQ$\m <:!X"'a>6tJ srrrrut.b 2 : 1 ~>rar!J> 6l51.$ll'b~~~Qrm~. ~Q)Q.Js;rolm ~m~~Ji:>s;rrm 6lSl~~t.b 
(ljlQ>!J)\1UJ 

(A) 4: 1 

(C) . 1 : 1 
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(B) 1: 4 

(D) 1 : 2 
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116. Arrange the Remote Sensing Satellites as per year of launching, 
in ascending order. 

1. IRS 

II. SPOT 

III. TRIOS 

IV. LANDSAT 

(A) I, II, IV, III .J1!( Ill, IV, II, I 

(C) I, II, Ill, IV (D) IV, III, 1, II 

G15rrb0'>~ ~~~ir6l..l 61Sl6ffie;Q)ri.JB>a>m ~~ 61Sl~~Q) Q..,@)J~tDUULL GU(!9LP,bO'lp;& GB>rr~~ £~®Jb§J 
C:tnQ)IT.S ~~.$@).$. 

I. ffi .~r'r.Gr6iu 

II. 6iuurrL... 

III. tq.oo I]Ctu rreu 

IV. rurr~L...c!fiTL 

(A) I, II, IV, Ill (B) III, IV, II, I 

(C) I, II, III, IV (D) IV, III, I, II 

117. Identify the incorrect pair. 

Biosphere States 

I. Kanha Madhya Pradesh 

II. Nandadevi Uttranchal 

III. Manas Assam 

IV. Namdhapa Arunachala Pradesh 

(A) I (B) I1 (C) III (D) IV 

Gurr®~~LDJD!D ~oo~bO'ltu Gp>rfl/bG)2i~.$.s. 

LuSlir C:.Srrmill LDIT Jbl Q) tO 

I. .srrm.srr tnP,~UJ t5li}"C:p>e:t.O 

~ 1J!Jb~IT ~6l51 :L~tD11rrss=ru 

III. lDITQTQu ~e:rrt.O 

IV. 1J!ITtO~ITUUIT ~®~rTc!FQ) t5l!](:t56tD 

(A) I ~ II (C) III (D) IV 
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118. Choose the coneci answer from the following : 

These occur as a result of continuous thunder storming. 

/J Landslides and floods (B) Tsunami 

(C) Earthquake (D) Volcanic eruption 

£aw Ga;rrG'.$a;uuL.LQ')QJB;~QJ @®!iJ§J 6rf1turrar U~Q')Q) a~rr.!f>G~@.$a;6tjtb : 

Q ~JT Lrr 8:6ltu IT ~'ill'~ ~ llj-ll.f L6i"f .!M..llj-lU 4 tu ruJm 66)Q">G;TTQ.HHiU GJ!i>U ~QJ~. 

(A) Jfi)Ql8:6rf16tjtb Qruffim(Yltb 

(C) Jfilru~G'8;a;tb 

(B) ~WluauiJQ'lrua;m 

(D) GTITh.OQ')QJ QQJllj-U4 

119. Which of the following statements about 'Fertilizer' is TRUE? 

I. It should be available in low cost. 

II. It should be easily assimilated by plants. 

III. · It should not dissolve readily in water. · 

~ 1 and Il (B) 11 and Ill (C) I and III (D) III only 

:LIJLD U Ji> !Dltu -«w.$~L sn.Ji> WJ.$cl) bU B'rfltu IT ~'ill'~ Q'>QJ 6T QnQJ? 

J. ~~ ~Q')Q) @)Q'l!D6l.JIT.$ .$1Q')L.$.$ aQJ~~LD. 

rr. ~~ ~IT6UIJrbl.$mrrQ> GT~~ru P-!6lt§6~~a;lh QJQ)a;u.Siru @®M a6U~G\t.D. 

III. ~~ ,ffirf1ru GT~~ru "!)Q'll)tu.$~Lrr~. 

(D) III LDL@LD 

120. Identify the odd one from the group of chemicals given below : 

1t 

BHC, DDT, 2,4-D, Urea 

(A) BHC 

(C) 2,4-D 

(B) DDT 

~Urea 
..«aw Ga;JT@.$a;uuL.G'mm a6l.J~U GuiT@Llh~m @)@LDPi~!i>®U Gurr®.!f>JZ>rT~Q')~.$ U,~L!Dl: 

BHC, DDT, 2,4-D, ~rf1tuJT 

(A) BHC 

(C) 2,4-D 

31 

(B) DDT 

(D) I!Jrf1llJ IT 
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121. Who was the first woman judge of the Supreme Court? 

(A) Hanna Chandy 

(C) Indira Gandhi 

122. Consider the following statements : 

(B) Vijayalakshmi Pandit 

~ Fathima Beevi 

Assertion (A) : The (ARC) recommended that the institution of Lokpal and Lokayakta. 

Reason (R) 1. should be demonstratively Independent and Impartial. 

2. their appointment should be as far as possible non- Political. 

Select your answer according to the coding scheme given below. 

(A) Both (A) and (R) are false 

~ Both (A) and (R) is correct 

(C) (A) is false but (R) is true 

(D) (A) is true but (R) is false 

e;rriJQm"tb (R) 

(A) (A) lD!i>I))Jtb (R) ~IJ~G\tb lo!i6U~ 

(B) (A) lDfDJJJ!tb (R) .@IJ~G\tb 1Jfil 
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123. Arrange the Presidents of India in chronological order of their term in Office. 

I. R. Venkatraman 

II. Dr. Sankar Dayal Sharma 

III. Dr. K.R. Narayanan 

IV. Dr. A.P.J. Abdul Kalam 

~ I, II, III, IV 

(C) III, I, II, IV 

I. ~ir. Qruri.J.g;L..~rrLDm 

II. Lrr.$u'r 6ri.J.!iiir ~lLJfTQT 6irLDrr 

III. LfT.$Lir <!ai .~ir . ,!lifTf7fTILJQITm 

IV. ur.$ui" ~-t.Sl.~. ~u~ru B;Q)rrtb 

(A) I, II, III, IV 

(C) Ill, I, II, IV 

124. The Bhopal Gas Tragedy happened in 

(A) 1980 

(C) 1975 

(A) 1980 

(C) 1975 

125. The books 'Wings of Fire' was written by 

(A) Nehru 

(C) Kamaraj 

(A) C,!!i® 

(C) B;rTLDIJrr~ 

1t 

(B) III, IV, I, II 

(D) III, II, I, IV 

(i3) III, IV, I, II 

(D) III, II, I, IV 

(B) 1978 

~ 1984 

(B) 1978 

(D) 1984 

/ A.P.J. Abdul I<aiam 

(D) Mahatma Gandhi 
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(B) A.P.J. ~u~ru s;rurrlb 

(D) LO.!Iirr~LDrr B;fTJh~ 
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126. In the products 2axla =4 1a ; 2bx1b=37b, a and b represent positive integers. Then 

a+b= 

~ 11 (C) 7 (D) 13 (A) 15 

2a x la = 41a LDlDIDJLD 2b x 1 b = 37 b ~$ltu Glu®d;.sru.sGTflru a LD!D.g).IID b GT~u~ uSl~.s @0::9 

GT~.s~mBi ®rDl~tbrrru. a+ b = 
(A) 15 (B) 11 

127. Find the odd man out in the following : 

1, 144, 16, 25, 49, 81, 121, 36, 62 

(A) 1 (B) 49 

(C) 7 

· (C) 121 

t.Sl~ru®ID GT~.sm QfhrrLirrurf1~6u5lru Gurrc;):5fbrr~ GT~~QM8; e;~@L5l~q-. 

1, 144, 16, 25, 49, 81, 121, 36, 62 

(D) 13 

~ .62 

(A) 1 (B) 49 (C) 121 (D) 62 

128. The World-Wide Tea product of 5 countries for the year 2011-2012. 

B 

c 

D 

E 

The angle subtended by E at the centre of the c7 le is 

(A) 15° (B) 30° ~ 54° 

B 

c 

D 

E 
ruL.L~~~ mLDUJ~~ru E-ar ruL.L6iGe;rr6m!TID 

(A) 15° (B) 30° 
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J 29. In a·n examination 30% of total students failed in English, 40% of students failed in Hindi 

and 20% in bot'h. Find the percentage of students who passed in both the subjects. 

(A) 50% (B) 20% (C) 10% (D) 60% 

~® C~rr6151ru 30% LDrrQ1!Trrff..$1UJrr ~rf.J£1Q)u urrL~~ro C~ri6:81 GuwEilSlQ)a>Q) . 40% LD rr€il!~m8;.$1UJir ~.ffi~u 

urrL~~ru C~rr6:8l Guw6151rua>Q). ~IJGliM~ urrL~~~tb Cfbir681 Ouwrr~QJira;m 20% bl"arwrrru ~IJ~~ 

urrL~~~w c~n-e:~ Guww LDrr~rr8;.$1UJ~m e:~6151.$1~tb br~~m? 

~ 50% (B) 20% (C) 10% CD) 60% 

130. Three positions of the same die are given. Find the number opposite to the side represented 

by 2. 

(A) 5 (C) 6 

. 
(A) 5 (B) 3 (C) 6 

131. If RIVER is coded as OFSBO then WATER is decoded as 

(A) ZDWIU .fl'l" znwHU (C) ZCWlV 

(A) ZDWIU (B) ZDWHU (C) ZCWIV 

1t 35 

(D) 1 

(D) 1 

(D) ZCUJW 

(D) ZCUJW 
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132. A can complete ~ part of a work in 10 days. A can complete .! part of the same work in 
3 3 

3 days 

5 days 

(B) 

(D) 

4 days 

6 days 

A ~Q'Iu6l.Jir ~® G6l.Jmruu5l~ ~ u®~muJ 10 ,[!ifTLB;blflru Ga:w~ Q:Pt.q.uurrri". ~C~ G6l.Jmruu5l~ .! u®~6"6)UJ 
3 3 

A Ga:tiJ~ QPt.q.6;B; ~®t.b JDITL$b111~ ~61Rrf6Wf)6;~l}j 

(A) 3 ,[!irn..:_B;m 

(C) 5 JDITL~6i"r 

(B) 4 ,[!ifTLB;m 

(D) 6 JDITL~6i"r 

133. Rs. 800 becomes Rs. 956 in 3 years at certain simple rate of interest. If the rate of interest is 
increased by 4%, what amount will Rs. 800 become in 3 years? 

(A) Rs. 1,020.80 

.JI Rs. 1,052 

(B) Rs. 1,025 

(D) Rs. 1,080.20 

®!DluL.Sll....L ~~6l.JL.t.q. 615~~~ru. ®· 800 ~m~ e!P~wrr6ffi"~B;Glflru ®· 956 q~,B; ~UJrr.$1w~. p.;~6UL.t.q. 

65~~m!h 4% ~~~rfluu~rrro. e.!P~!Drr~®B;~B;®u tS'lEihl ®· 800~ LDf,jul...l. ~~!b~ Gfbrr6"6)8iUJrrffi LDfrWJt.b? 

(A) ®· 1,020.80 

(C) (!!). 1,052 

(B) ®· 1,025 

(D) ®· 1,080.20 

134. Amala in~ests Rs. 6,000 in a bond which gives interest at 4% per annum during the first 

year, 5% during the second year, 10% during the third year. How much does she get at the 
end of the third year? · 

(A) Rs. 7,300 

(C) Rs. 7,200 

(B) Rs. 7,007.2 

~ Rs. 7,207.2 

~LDrurr, ®urrw 6,000--p;m~ ~® QP~ro® Ga:w.$1~wrrir. ~~ro Q:P~rurr~~.q.ro 4% 6l.JLt.q.lljt.b, 

~IJ~UrLDrr~t.q.ro 5% 6l.JL!q.lljLD, e.!P~JDITLDIT~Lq.OO 10% 6l.JLlq.lljLD .$)6"6)L6;@)tb ~~ru. (!P~j!)rTLDrr~t.q.m 

(Yllq.~GU ~LDQ>IT Guf!J!t.b G~rr~ffi UJrr~? 

(A) ®· 7,300 

(C) 0 · 7,200 

JTST3 36 

(B) 0 · 7,007.2 

(D) ®· 7,207.2 
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135. What will come in the place of a question mark? 

~ 9 (B) 6 (C) 7 

(A) 9 (B) 6 (C) 7 

136. Find out the wrong number in the sequence. 

623, 251, 543, 356 

(A) 543 (B) 251 (C) 623 

L.9~6l.J ® t.b G ~rru'r6l.l rf1Q1a:u51 Q.> ~6l.J !D rrm GJGliGr 6T~m7 

623, 251, 543, 356 

~ 543 (B) 251 (C) 623 

137. Find out the wrong number in the sequence. 

121, 264, 312, 462, 583 

(A) 583 (B) 264 {C) -121 

121, 264, 312, 462, 583 

(A) 583 (B) 264 (C) 121 

1t 37 

(D) 3 

(D) 3 

(D) 356 

(D) 356 

v( 312 

(D) 312 
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138. Match : 

List I List II 

(a) Andhra 1. Bharathanatyam 

(b) Kcrala 2. Kuchipudi 

(c) Tamil Nadu 3. Bangra 

(d) Punjab 4. Kathakali 

Codes: 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 1 4 2 

./?1 2 4 1 3 

(D) 4 2 3 1 

Qurr®~~s;: 

UL~UJWl UL~UJW II 

(a) ~)ii~IJfT 1. ~IJP>.ffirTL~UJt.b 

(b) Gs;17wrr 2. @j66h.J~~ 

(c) ~t.Dl~.!f>rr® 3. urrriHJrr 

(d) u~s:rru 4. s;~s;6Tfl 

®!6110@: 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 1 4 2 

(C) 2 4 1 3 

(D) 4 2 3 1 

139. Anna changed, the official name of the state from 'Madras' to Tamil Nadu in 

(A) 1957 

~ 1969 

(B) 1977 

(D) 1947 

(A) 1957 (B) 1977 

(C) 1969 (D) 1947 
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1-10. Match the foJlowing : 

(a) Larkana District 

(b) Kalibangan 

(c) Lothal 

(d) Harappa 

(a) (b) (c) 

(A) 3 1 2 

~4 3 1 

. (C) 1 2 4 

(D) 2 4 3 

s:rflUJrrGM 601g)Lg)UJ Gurr®~~.s : 

(a) rurrrr.srrmrr l.DITGl.JLLLi:l 

(b) .srr Gilfl u rf.J .sfiirr 

(c) C:rurr~~ru 

(d) ~IJUUIT 

(a) (b) (c) 

(A) 3 1 2 

(B) 4 3 1 

(C) 1 2 4 

(D) 2 4 3 

1t 

1. 

2. 

3. 

4. 

(d) 

4 

2 

3 

1 

1. 

2. 

3. 

4. 

(d) 

4 

2 

3 

1 

Gujarat 

Punjab 

Rajasthan 

Sind 

@)~I)' IT~ 

u~s:rru 

@IJrr~~~rrm 

5lfr>~ 
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141. !\latch the following with suitable options : 

List I List II 

(Works) (Authors) 

(a) Kondrai Venthan 1. Mayuram Vedanayagam 

(b) Neethineri Vilakkam 2. Sivaprakasar 

(c) Nanneri 3. Avvaiyar 

(d) Ncethi Nool 4. Kumaragurubarar 

(a) (b) (c) (d) 

(A) 2 3 4 1 

¥ 3 4 2 1 

(C) 3 2 1 4 

(D) 2 3 1 4 

t51IT164 I-uSlQ$1®)!>~ t.SliT164 11-m Gurr®~~e; : 

t.SliT164 I t51IT164 Il 

(!9/IQ>e;m) ( 4 5lrfltuire;m) 

(a) Qe;rrmoon> G6l.J)i>~6irr 1. LDIT~IJLD G6l.J~~ITIU6iLD 

(b) ,lli~ Q ,!b !Dl 6"61 ro.$e; tb 2. 5l6l.Jt.SliJ6iiTS:rT 

(c) ~QrGm!6J 3. ~QJQ)QltuiTIT 

(d) .lli~~ru 4. @jlDIJ@jQ!jUIJIT 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 3 4 2 1 

(C) 3 2 1 4 

(D) 2 3 1 4 
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142. Match the following with suitable option~ : 

List I List II 

(Age) (Art style) 

(a) Kushanas l. Dravidian style 

(b) Guptas 2. Vesara style 

(c) Chalukyas 3. Nagara style 

(d) Cholas 4. Gandhara Art style 

(a) (b) (c) (d) 

/ 4 3 2 1 

(B) 4 2 1 3 

(C) 3 2 1 4 

(D) 3 1 2 4 

uL..~UJru 1-~rol®!i>§J uL..~UJru II-~UJ Gurr®fi>~&: 

uL..~UJrul uL..~UJru II 

( .$rTQ)Lb) (B;mru urr~) 

(a) ®~fT~rT.$Qr 1. ~IJrTGlSl LLJ urr~ 

(b) ®LI~rrB;m 2. C:ru61JrT urr~ 

(c) B"rr~8;£1UJ rr B;Qr 3. ~l£1Jrr urr~ 

(d) C:6rr~rr .$6lr 4. 6i rr,l] ~IT 1J 8; s; ro ru u rr 6lR!fl 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 4 2 1 3 

(C) 3 2 1 4 

(D) 3 1 2 ' 4 

41 JTST3 · 
[Turn over 



143. Match the authors with their books and choose the right option : 

(a) Malgudi Days 1. Kautil.ra 

(b) Harshn Charita 2. Swami Dayanand 

(c) Arthasasthra 3. R.K. Narayan 

(d) Satyarth Prakash 4. Bana Bhatta 

(a) (b) (c) (d) 

·;.I 3 4 1 . 2 

(B) 2 3 4 1 

(C) 4 1 2 3 

(D) 3 1 4 2 

6T~tb~ITGTTIT6iQ)GITu..jLD c:9fQJITa;ffil6in L..j~~e;ri,)a;g>GITu..jLD Gurr®tb~ e:filiLJrr6N 6\SlQ'lL.68>1LJ a~rrp;G~(&)B;a;~Lb : 

(a) . tDrrGi.>®ur Guru 1. Q e; GIT ut ru lU fT 

(b) ~r'r~rr e:filtb~rr 2. a;QmuSl p;UJ rrfb !b p;rr 

(c) ~rr~~ e:rr6iu~IJLD 3. ~rT . Ga; . .!f>ITIJITILJ~ 

(d) 6~lUfr~ t.SliJcSfT~ 4. UIT6NfT ULL.IT 

(a) (b) (c) (d) 

. . 
(A) 3 4 1 2 

(ll) 2 ~J 4 1 

(C) 4 1 2 3 

(D) 3 1 4 2 

JTST3 42 1l 



1-14. l'vl.atch the following and choose the right ans\ver 

(a) Receni Military camp took place in 

(b) Snowden's plea for assylum was rejected by 

(c) Serial Bomb-Blast took place at Mahabhodhi 

temple is in 

(d) After 10 years Andy Murry brough t laurels to 

his country by becoming Wimbledon Champion 

(a) (b) (c) (d) 

(A) 4 3 2 1 

. (B) 3 1 2 4 

~ 2 3 4 1 

(D) 1 2 3 4 

a:fihurre; 66lrou;mu G~ir.[i;Q~@~@ Qurr®~)2)6l.jLO. 

(a) c:!9f 6Wrro LDuSl ru .@ IJITW Gl.J u Ll 1JL5l ~JJD u LL~ 

(b) Q\>GQITrrQu;or~~ Lj.SQS)L G.srriTlc!i;m.sGJ>UJ ,ffiliJrr.sfil~$1)~ 

(c) G)2)rrLir ®6Wr@ GGl.llitULl .[51.sw.ffi$!> LD.srrGurr~ .dij,rulLJLb 

~rom .@Ltb 

(d) 10 Gl.l(!?L~W@)U t.Sli!J@i .dij,.tit(YlrTGI) 66ltbL.SlroL~ 

uL.Ltb Gu!iJ!PJ ~Gl.J rr )!>rTL.~!iJ®u Lj.SW Ga:rr~~rrir 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 1 2 4 

(C) 2 3 4 1 

(D) 1 2 3 4 

7T 43 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

Bra zil 

I ndia 

England 

Egypt 

L.SlGIJ®lru 

.@.(i;~UJIT 

.@ri.J£lrorr.[i;~ 

GT.i1u~ 
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145. Point out the wrong statement in the following: 

I. National Animal T1ger 

II. National Bird Peacock 

Ill. National Flower Hose 

IV. National Fruit Mango 

(A) (B) II 

~ III (D) IV 

£~a;amrL B>Q!i~~B;a;mlro ~GU!Drr~m~ 6tL..~.$a;rrL..® : 

I. a~e1UJ L.6l®a;Lb Lj€1Sl 

II. a~61UJ u!l)m6lJ LDuSlQ:J 

III. a~UJ~ a1Jrr85 rr 

IV. C~61 u; u IJl Lb LDITLOU~Lb 

(A) (B) II 

(C) Ill (D) IV 

146. Who is the \\11istle Blower, who brought the secret of American Intelligence, doing the 
Global Electronic Surveillance on other nations, to the world? 

(A) Julian Assanage 

(B) Daniel Pearl 

.qt( Edward Snowden 

(D) Mike Tisen 

fLQlc$ p;rr@8imoo, c91GLDnl.$a; 2...006\j Jf;l!J)IQJ~LO . l)'c$61UJLDrra; L.6161T~WJ {!PQlLO a;amra;rr~~~m~ f2....Ql$l!iJ® 

QQJrohju@~~UJ c91GLDnl.$a; tL~mLD 61Slmt.bt5l 

(B) LIT~UJQJ ufrro 
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147. Which article empowers the President to dissolve the Lok Sabha at any time before its 

tenure? 

~ Art 85 

(B) Art 95 

(C) Art 81 

(D) Art75 

gj>~ c:!~IIJ§IUJQHi~>LDUY <'fLLLD ®Lq..UJIJB; ~alQJQJ(!98;® UITIJIT~LD~!D$fi~~ £~ ~a>Q.Ja>UJ a;a>Q>c$8i ~~8irTIJLD 

~~c$.$l!!J~? 

(A) EiDl~ 85 

(B) EiDl~ 95 

(C) GlSl~ 81 

(D) EiDl~ 75 

148. Which is not the member of G-20? 

1t 

(A) Argentina 

~ North Africa 

(C) Bolivia 

(D) Egypt 

(C) GurrrolEiDlUJrr 
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149. Match the List I with List II and select the correctly matched answer : 

List I List II 

(a) Rheumatic arthritis 1. Contageous disease 

(b) Pellagra 2. Auto immune disease 

(c) Cholera 3. Hereditary disease 

(d) Sickle cell anaemia 4. Vitamin deficiency disease 

(a) (b) (c) (d) 

(A) 3 1 2 ' 4 

~ 2 4 1 3 

(C) 2 1 4 3 

(D) 3 4 2 1 

UL~~tUJ6bl uL..t~tUJru n 

(a) (!9CLDL.t~t6; (!t>Lffi\ 6U~ 1. UrJQjt.b Q~rr!f>wCJlirnu 

(b) GuruQ)6;1)rr 2. 8ilLJ CJliiTtU~ ~G\U4 (§Ql!J)UIT@ CJf>rTW 

(c) ffirTQ)I)IT 3. UITI)WUiflUJ CJlirTlU 

(d) lfj).ir ~rT16Urrro [i)rJ~~ Ca:rrQla; 4. 6"6'>6U L. L uSl ~ {§6"6'> j!) 61S1 Q1 IT ru :L6liGT LIT(§ t.b C)li rr uJ 

(a) (b) (c) (d) 

(A) 3 1 2 4 

(B) 2 4 1 3 

(C) 2 1 4 3 

(D) 3 4 2 1 
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150. Match the Wild Life Sanctuaries in List I with their locatio.n in List II : 

1t 

List I List II 

(a) Viralimalai 1. Western ghats 

(b) Mukkurthi National Park 2. Kancheepuram district 

(c) Indira Gandhi Wild Life Sanctuary 3. The Nilgiris 

(d) Vedan thangal 4. Trichy district 

(a) (b) (c) (d) 

(A) 3 1 2 4 

.,JJI1 4 3 1 2 

(C) 1 2 4 3 

(D) 2 4 3 1 

uL...~q-u.Jru I -ru ILIDm" QJQTGlS)Q)ri.J(§B>mlQr 8'1]EWrTQ)u.Jri.JB>~6IT uL...a.q.u.Jru II -ru ILIDm" .@®uL51u-&la;(5LQr 

Gurr(!l)~.S : 

uL...a.q.u.Jru l 

(a) ~IJITQS)LDQ>Q) 

(b) (!PSi(§®~~ ~u.J ~ri.Js;rr 

(c) .@ p;~ 1J rr a;rrp;~ QIQT tt..uSllfl UIJEWIT ru u.J Lb 

(d) C6\JL,lli~rrri.Ja;ru u!Dm6\JB>m a:IJQUTrrruu.JLb 

(a) (b) (c) (d) 

(A) 3 1 2 4 

(B) 4 3 1 2 

(C) 1 2 4 3 

(D) 2 4 3 1 

1. 

2. 

3. 

4. 

47 

u L.a.q.u.J ru n 

C:tn,!b(§~ G~rrLrr6.fltn~Q) 

a;m_§.fl LliJLD LD rrQJ LLLD 

.£ru8illfltnmru 

~(!1)6.fltnrrQILLLD 
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151. Which of the following is referred to as EMP pathway? 

(A) Glycolysis 

(D) Kreb's cycle 

(C) Electron transport chain 

(D) Pentose phosphate pathway 

t5lm6U(§6\.JaTQJ(:bgllEil ~~ EMP ru~~1J>Ltb ~aTQlL.b ~Q')~c9;e;uu(~hb? 

~ ~6"6>6TT8i1Trol~~ 

(B) ~GrJu Bi~;PJDs:l 

(C) ~ruc9;L.rJrr~ 8iL~1J)Gb 5rf.J8ilrul 

(D) Qu~GLrr~ urr~GuL. ru~~~Ltb 

152. Consider the following statements : 

Assertion (A) : Insectivorous plants digest proteins of insect body. 

Reason (R) : Insectivorous plants grown in Nitrogen (Nz) deficient soil. 

Select your answer according to the coding scheme given below : 

(A) (A) is true but (R) does not explains (A) 

~ Both (A) and (R) are true, (R) explains (A) 

(C) (A) is true (R) is false 

(D) Both (A) and (R) are false 

~ W6iEiiRrrL 6\.J rr .9;.$hu ffil6i6"6>6TT .9; 6iQJ 6af1 : 

<'M-lOgli (A) : 1J6Bi6!ilrr~L.b 1J)IT6\.JfltD b:J,66le;mlm ~Lrulru LEITGTT LjGrJITLII!.6ilr6i6"6>6TT Q5cflc9;.$lm!DaT. 

6iiTIJ6mL.b (R) : kio6Bi6!ilrr~tb 1J)IT6l.Jr]"L.b 6"6>.!flLIJm6isr Ur0!Drfc9;@)Q'l!D :LEITGTT LDEiiRrr~Gb QJGTT(§L.b. 

~w ®!!5lut5lLuuL.(blmGTT ®!&uSL.~q.ru 5cfll1Jrr~ ~Q)LQ')llJ~ ~rr.ffiG~@ : 

(A) (A) s:cfl ~arrrru (R) (A)-66l!D® s:rrhurrar 66lm8i6iLDruru 

(B) (A) LD(:bglltb (R) ~rJ~Ghb s:rfl, GLD~tb (R) 6f6isru~ (A)-~Jb® s:rflllJrraT ~m8i6iL.b 

(C) (A) 6rfl ~~rrru (R) ~ruw 

(D) (A) LDJDgllL.b (R) .@IJEi!Rrr@L.b 1J)6\.J!l)l 
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153. Which of the following is/are wrong? 

I." Aligarh movement was led by Sir Syed Ahmed I<han. 

II. Sir Syed Ahmed Khan supported Shuddi movement. 

III. Sir Syed Ahmed Khan started Anglo-oriental college . 

../J II only (B) I and II 

(C) I and lll (D) I, II and III 

(A) II L.Ol...@Lb (B) I LDW!PJLD 11 

(C) I LOW!PJLD III (D) I, II LDW!PJLD III 

154. Wh1ch one of the following is correctly matched? 

(A) Etta)_'apuram Collector Ashe 

(B) Jallian W alah Bagh Tragedy - Hunter Committee 

(C) Swaraj Party B.G. Tilak 

(D) Prohibition V.O. Chidambaranar 

(A) G;l"LLUJ LlfJ'LD a;QQ>B;Lf'r ~~ 

~) gs rr ro1 UJ6isr Q.HT Q) rr u rr 8; ~ UJ IJ'LD ~Qiaru'r a;uSlL...~ 

(C) 8ilLlfJ'rTtR~UJ a;L..§I B.C. ~Q)a;ir 

(D) L0~6l51Q)8;® QJ.~. 5\~LbUIJ'QlTlTIT 
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155. Match List I with List II correctly and select your answer using the codes given below 

List I List II 

(a) Taltvabodhini Sabha 1. Henry Vivian Derozio 

(b) Young Bengal Movement 2. Vishnu Sashtri Pandit 

(c) Widow Remarriage Society 3. Veeresalingam 

(d) Hitakarini Samajam 4. Devendranath Tagore 

Codes: 

(a) (b) (c) (d) 

~ 4 1 2 3 

(B) 4 3 2 1 

(C) 3 4 1 2 

{D) 2 1 4 3 

ul....utu.Hiil I -m ul....utUJG> II -fLLm Gurr®~~ £C~ G.!brrffi'Sis;uul...(5lrom @)!D)u5'(5\.!bQ>m8; Qs;rr~G\ <'ffilUJrr~ 

GlSIQ>LmUJ~ C~rrfr>G~G\ : 

ul...utu.JG>I ul...~UJro II 

(a) ~~~ruCurr~Glfl <'fQ)LJ 1. Q jl!Dm !D1 Gl51Ei1Slu.J m Q~CIJrr~C lU rr 

(b) .@mL.b ruri.Js;rrm .@tUSis;L.b 2 . 661~~ 6rrffil/Jnl u~~L.. 

(c) QS)~QJQJ LD!1)JLD~ ~.!bLD 3. GU'CIJ~ri.Js;L.b 

{d) ~p;s;frG!fl<'fLDTT8lLD 4. C~Cru)i;~IJp;rr~ tf>rTIIfi.IT 

@>!D1u5@.!bro : 

(a) (b) (c) {d) 

(A) 4 1 2 3 

(B) 4 3 2 1 

(C) 3 4 1 - 2 

(D) 2 1 4 3 
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156. Consider the following statements with reference to the nature of the Indian National 
awakening: 

' 
(i) It was basically started by intellectuals. 

(ii) It was a movement in which, all sections of society became united against the,_ 
English. 

(iii) Mter 1920, national movement was l~d by Gandhiji. 

(iv) Gandhiji started the Khilafat movement. 

Which of the statements given above is/are correct? 

(A) (i) and (ii) 

(C) (i) and (iii) 

~ (i), (ii) and (iii) 

(D) (ii), ·(iii) and (iv) 

(ii) c:~.flUJ @UJffiBl~~ru 6QP~rrUJ~~m a~Q'l~~~ ~IJuy LDffi8l18t.D ~ri.J£C:Q)UJfrBl!8ffi® ~~IJrrBl 

~®ri.J£63l~.ffi~~ir. 

(A) (i) LOJDWJLO (ii) (B) (i), (ii) LOJD[p!LD (iii) 

(C) (i) LDW.\l)JLD (iii) (D) (ii), (iii) LDJD.\l)JLD (iv) 

157. The organisation which introduced Green Revolution in lndia is 

"' lCAR 
(B) ICMR 

(A) ICAR (B) ICMR 

1t 

(C) ISRO 

(C) lSRO 

51 

(D) CSIR 

(D) CSIR 
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158. Framing of 5 year plans : 

(A) National Development Council (B) Prime Minister's Office 

(C) United Nations Organisation (D) Planning Commission 

m.ffi!lirrai"r@~ ~LL~~Q)QT aJ®UU~ 

(A) Gf!i51UJ rumir6518> ®@ (B) L.SliJ"~lD &jQ'lLD6s:rftm &j~QJQ)BilD 

(C) rn8>&JUJ ,!!)IT(b}BiGr S'Q)U ~ ~LL8>@)@ 

159 .. Match the following : 

(a) ,Jawahar Gram Samriddhi Yojana 1. 2000-2001 

(b) National Social Assistance Programme 2. 1993 

(c) Employment Assurance Scheme 3. 1999 

(d) Pradhanmantri Gramodaya Yojana 4. 1995 

(a) (b) (c) (d) 

(A) 3 1 2 . 4 

(B) 4 3 1 2 

Jlf 3 4 2 1 

(D) 2 3 4 

Gurr®~~e; : 

(a) ~rue;rr .$111rrLD G61JQ)Q)Gl..Jrrli.JuL.j~ ~L.u.O 1. 2000-2001 

(b) p>rrl...@lfe!JlBi ~~GlSl?J ~L.ub 2. 1993 

(c) GarQ'lQ)QJrTuJUL.j fL!PJ~?J ~L.ub 3. 1999 

(d) L.Slll!liLDrrlm GaJma>aJrrti.Ju4~ ~L.LL.O 4. 1995 

(a) (b) (c) (d) 

(A) 3 1 2 4 

(B) 4 3 1 2 

(C) 3 4 2 1 

(D) 2 3 1 4 

160. Take the odd man out : 

lndia's Navaratna Companies 

(A) BHEL (B) BPCL (C) IOL 

""' 
IPCL 

&~,ffi,@UJ~ QQJ~GUJtiJ!))I : 

@.ffi~UJrrGlSlm !f>aJil~QT ~g)IQJQTri.J.,;m 

(A) BHEL (B) BPCL (C) IOL (D) IPCL 

JTST3 52 1t 



161. Who is the Father of Consumer Movement? 

(A) Mahatma Gandhi (B) Indira Gandhi 

(C) John F. Kennedy ~ Ralph Radar 

!9Jo$ITC:6l.lmf1tu61Slm fbJb66lfb GTQI o$(!9fbUU{1)U6l.liT turrrr? 

(A) LD~IT~lDIT o$1TJb~ (B) j) ]bfi)lJrr a;rr~ 

(C) ~rrar F. Qa;Q'IQTtq.. (D) I)!TGUu C:I)LIT 

162. Who frames the monetary policy of India? 

(A) Finance Minister of India (B) Reserve Bank of India 

(C) Prime Minister of India (D) International Monetary Fund 

(A) ~fr>~tu .ffil~tu66lLD6c!fir 

(C) ~Jb~lU t5ll)~fiLDr'r 

yll!f1 rflc!frrQ.J urrrfu8; 4u ~fr>~turr 

(D) . umQ!rrL.@.ffil~ .ffil.'J)t6l.lQTLD 

·163. Consider the following statements. Choose the correct answer. 

"Comets have no tail". 

I. when they are far away from the sun. 

II. when they are close to the sun. · 

III. when they are close to the earth. 

IV. when they are in between the earth and the sun. 

(A) I, II, Ill and IV are wrong 

~ I is correct but II, III and IV are wrong 

(C) I is wrong but II, III and IV are correct 

(D) I, II, III and IV are correct 

. !~B;a;rrwili 6l.Jrr8;£turi.la;6flro 4u.Ja;. ~6\J!i>g»Q-r c!ffilturrQT6flfb (:p;frQ.J Qc!fti.Ja;. 

6l.Jrrru LEme;ffilru 6l.JrrGi>u®fD GTuGurr@~ C:fbrrm!J)rr~? 

I. ~66l6l.l ~filtu6flQT 661L.@ G~firr6flru6616U j)Q98;®ili Gurr@~· 

II. ~6flQJ ~filtu@l8;@j ~®£Gi> ~(!9.$@jili Gurr@~· 

III. ~6fl6l.J b:J.uSl8;® ~®.$lru j)Q98;®ili Gurr@~· 

IV. ~66l6l.l b:J,uSlB;@jtb. ~filtu~B;®ili j)66lLuSlru ~®S;®ili Gurr@~· 

(A} I, II, III LD!i>!Pfili IV pjQJ!;!J 

(B) I c!ffiltuiTQT~ II, III LD!i>!Pfili IV fb6\Jg)l 

(C) I fb6l.lWJ ~Qrrrru II, III, IV c!ffil 

(D) I, II, III. LD!i>g)lili IV c!frfl 
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I 
' 

164. Identify the Seaports and name them 

l. Paradwip 

2. Mangalore 

3. Chennai -
4. Cochin 

(A) Paradwip, Cochin, Chenn~u. l\fangalore 

(B) Mangalore, Paradwip, Chennai, Cochin 

.Jil!f Mangalore, Cochin, Chennai, Paradwip 

(D) Cochin, Mangalore, Chcnnai, Paradwip 

1. UfTIJ/>U 

2. tDri.Js;~ir 

3. Gs:mmQT 

4. Qs;rr8:.tlm 

(A) urrrJ/>u. Qs;rr8:.tlm. Q~mQT, tDri.Js;~ir 

(B) tDri.Js;~ir. urrrJI>u. Q6QrmQT, Qs;rr~~ 

(C) tDri.Je;(5ir. Qe;rr8:.51m. Gs:mmQT, urr1JI>u 

(D) Qe;rr8:.51~. tDri.Js;~fr. Qs:~6f>QT, urrl]l>u 
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165. I. Moon is called a Meteoroids. 

II. Moon is called a Satellite. 

III. Moon is called a Asteroids. 

IV. Moon is called a Comet. 

(A) I and III are correct ,j!!lf' II is only correct 

(C) II and IV are correct (D) IV is only correct 

I. cr]f>~rJ~6liT 6TITl.(!iLCF~~rJLD GT6liT ~~w8;~61.)ITLD. 

II. cr]f>~IJ~6liT ~~~a;a~rrQ-r 6T6liT ~~w8;a;rurrt.D. 

III. cr]f>~IJ~6lll @i®ri.JG6jrrQ-r6jQ-r 6r6liT ~~W8;6jrurrlb 

IV. cr]f>~IJ~6liT Glmru J!Lcr~~IJLD 6T6liT ~~w8;6jrurrlb. 

(A) I LDfDIJ)JLD III LDl...@Lb crrrl "(B) II LDl...@Lb crrrl 

(C) II LDfDIJ)l Lb IV crrrl (D) . IV LDL..@Lb crrll . 

166. Choose incorrectly matched. 

(A) Green Revolution - Agricultural crops 

(B) White Revolution -Milk and Milk products 

.,jj{ Grey Revolution - Oil seeds 

(D) Golden Revolution- Horticulture 

crrflUJrr<'fj Gurr®fr>~uuLrr~~~ .$~~~L6l.lJD!Dl~®.IT>~ G~r'rQl GcruJ<'fj. 

(A) uer~LDu 41JL~- G6l.l6THT~ ~!Du~~ 

(B) QQJ~~LDu 41JL~ - urrQ> LD(iJIJ)lt.O urrQ> Qurr®l....a;Q-r 

(C) errLbuG\J 41JL~ - 6r~Q~tiJ 61Sl~.§J8;~Q-r 

(D) Qurrm 41JL51- uwri.J<'fjro 

167. Choose the correct answer : 

7t 

In which District Grizzled Squirrel Wild Life Sanctuary is found? 

(A) Nilgris (B) . Sivagangai 

.jl{ Virdhunagar (D) Kanyakumari 

crrflUJrr6liT 61Sl~L~UJ G~rrfr>G~@8;~ : 

8'1TLDUbU tBl!D ~~bU<'fjQr 8'1J~ITGUUJLD 6rfr>~ LDITQJLL~~GU :?__Qr611~? 

(A) · .£ru$1IT1 

(C) 61Sl®.§J.ITJ~fr 
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(B) ~6l.l~ri.J~6j 

(D) ~6UT~UJtr@iLDITl 

JTS1'3 
[Turn over 



168. The mixture present in the pencil lead is 

(A) Carbon and Nitrogen 

(B) Carbon and Oxygen 

-Jil{ Carbon and Clay 
• 

(D) Carbon and Glass 

QuQr61rolru ~rom 6T@~ID Qurr®61f1Qr e;Q)m6l.J 

(A) e;rriruQr lDJDglllD Ql)DLIJ~Qr 

(B) e;rrrrum lDW!!)JLD ~6;611Sl~m 

(C) e;rrrru~ lDJDWJLD e;61flw~ 

(D) e;rrrruQr !DdJWJ!b e;~~mq.. 

169. Which of the following statement(s) about 'acid' is TRUE? 

I. It turns blue litmus paper to red. 

II. It has pH value greater than 7. 

III . It reacts with bases to give salt and water. 

(A) I and II ~ I and III (C) II and III 

'~uSIQ)Ib' UJD!6JUJ £~6;e;Q/arL 80.JD!!)J<!D61flru 6rflUJITQTQ>QI 6TQ>QI? 

I. ~§! ff,Q) rolL.wQl) )'DITQ>QT 616l.Juurra; wrrdJwlb. 

n. ~§! 7 -re GlSlL ~~a;wrrQT pH w~uy ~mLUJ~. 

III. ~§! a;rriJ~u;ir 6l5)Q>myrfl.ffi§l 2...UQ>UilJLD .ffimiJilJtb ~®.$1QrJDQl. 

(B) I w!iJg)l!b III (C) II w!iJwlb III 

170. Which country became a member of the U.N.O. in the year 2011? 
. ~ 

(A) East Timor · (B) . Montenegro 

.../> South Sudan (D) Serbia 

2011- lb ~~G m8i..t1UJ p>rrGe;~ 6Q:luuSlru ~L!!)JuL.SlQTIJrre; ~6ir.ffi~ p>rrG 6r§J? 

(A) .tl~B;® m~~ir 

(C) Q~d>® ~Lrrm 
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(B) wrr~~q...ffil8i~ryrr 

(D) Q6rrL.SlUJrr 

(D) III only 

(D) Ill wL.GID 
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171. Th~ first meeting of the Constituent Assembly of India was held in 

(A) 1950 

(C) . 1948 

(B) 1946 

(D) 1947 

~IJ81UJru .ffilrrQUTUJ o:c>ouuSlm QPff>W Bft.LLW p;Q)d.;luriJ!D ~6Wr~. 

(A) 1950 tiJif( 1946 

(C) 1948 (D) 1947 

.. 

172. Consider the following statements: 

1[ 

Assertion (A) : The CVC has to present annually to the President a report on its 

· performance.· 

Reason (R) The President places this report be(ore both House of Parliament. 

Select your answer according to the coding scheme given below. 

~ Both (A) and (R) are correct 

(B) Both (A) and (R) are false 

(C) (A) is false but (R) is true 

(D) (A) is true but (R) is false 

a;rriJGlm'W (R) 

(C) (A) ff>Ql!l)l ~~rrw (R) o:rll 

(D) (A) o:rrl ~~rrw (R) ~QJIDI 
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173. Who presides over the joint sessions of the Parliament? 

(A) The President 

~ The Speaker 

(B) The Vid~-President 

(D) The Prime Minister 

174. The National Development Council was established in the year 

~ 1952 (B) 1955 (C) 1959 (D) 1962 

C:p:;61UJ C:tntburn.:..@ @)@ ~fr>p> ~~@ ~(!;QJITUUULL~7 

(A) 1952 (B) 1955 (C) 1959 (D) 1962 

175. lf 2+3=89, 3+4;:2716, 4 +3=649 then 1+2=? 

(A) 24 .¢" 14 (C) 4 (D) 10 

2+3=89, 3+4=2716, 4 +3 = 649,~~ru 1+2= ? 

(A) 24 (B) 14 (C) 4 (D) 10 

176. Five distinct items A, B, C, D and E are to be placed in distinct boxes numbered as 1, 2, 3, 4, 5. 
Items B and E cannot be grouped together. Maximum number of boxes can be left out without 
items is 

(A) 1 

~ 3 
(B) 2 

(D) 0 

QQJQ.JC:QJ!DIT6M 5 GurrQ!)LB>GTr A, B, C, D LD!DIDJtb E ~.$1UJQ.JlDQ>!D 1, 2, 3, 4, 5 ~mB; ®!61uuuL.L 

GuL.~a;rolru GnQJU C:QJ~Gh.D . B LDLD!!)Itb E ~.$1UJQ.JlDQ>!i> 9m!Drra; Q>Q.JB;s; QP~UJrr~. ~~"' Gurr®L.a;m 

~QJB;a;uuur~ QuL.~a;mlm ~~a;uL.a: ~~610f!B;Q>a; 

(A) 1 (B) 2 

(C) 3 (D) 0 
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177. SALES BY TWO CATEGORY FOR ABC PRESS, 2000-2010 (in thousands.ofbooks) . 
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In how many years did the sales of science books exceed the sales of arts books from 2000 to 

2009? 

(A) 4 years (B) · 5 years ~ 6years (D) 7 years 
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~~a;LDrre; GU'lwu~m G6liJUJuuLL~7 
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178. Five persons A, K, L, Rand U are sitting around~ circular table. K is immediate left to U 
an9 is between A and U, then immediate neighbours of L are 

~ KandA (B) U and A 

(C) K and R (D) A and R 

A, K. L, R LOdJglltb u .6f6irr!!J re6l.Jrr ~® 6UL..LaLOGl>emtu e;.(i>!fil &~LOrr.£16irrw~ir. u -8;® ~LuuB;B;~~ru K614 tb 

LDIDI!)Jtb A648;®tb U64.$®tb ~mu!Slru R-tb &~LOrrJi>~®Ji>~rrQ> L-8;® uB;B;~~Q> ~®LJ!DQPLD ~LDir}ii~6UirBim 

(A) K LDW!PJLD A (B) u LO,!i>glltb A 

(C) K LO,!i>gJ~tb R (D) A LOIDI!)JLD R 

179. A circular ground of radius 7 m has a path of width 7 m around it on its outside. The area of 

180.' 

the path is approximately equal to . ( 1r = ~2) 

(A) 154 sq.m. 

J1f 462 sq.m. 

(B) 308 sq.m. 

(D) 616 sq.m. 

7 tB ~IJQJ>ffim ~® QJLL Qlllt6l.J mLO~rrm~ro~ 6iW!fil QQJQ"fll..j!l)LD 7 tE ~B>ru~~Q> ~® urrQ>~ P-Ein;rr@ 

61"6Uflru urrm~uSl6irr uiJuumG'I.j . ( 1r = 2
7

2
) 

(A) 154 e.Ge.tB. 

(C) 462 e.Ge.tB. 

(B) 308 e.Ge.u5. 

(D) 616 e.Ge.tD. 

A can do a work in 12 days; B in 6 days and C in 3 days. A and B start working together and 
after a day, C joins them. The total number of days required to complete the work is 

.t/ 2* days (B) 
2 

1- days 
7 

(C) 
1 

2- days 
7 

(D) 
1 

1- days 
7 

~® aQJroQ)Gl>lU QP@OOLOturrBi ~~~~Ctu Geti.J@ QP~B> A, B, c ~.£laturr®B;® 12 p;rrL.Biw, 
6 .ffiiTLBim LOIDL!)ILD 3 p;rrL.Bim .6f6irr6i. A, B ~(!9QJ(!!jt0 a6l.JQ)Q)(;J)lLJ Geti.Jtu ~1Jtbl51~~ LOgJIJDITffi 
Ctb ~QJirB>amrr@ aQJQ)Q)Q)UJ G6ti.J~rrQ>, &~}ii~ aQJQ)Q)Q)lLJ QP@OOL.DlUITc$ Qqti.J~ QP!st.$~ _c~Q)QilUITGUT 

(A) 22 .. (B) 12 . . - .ffirTLBiQT - .ffirTL6iffi 
7 7 

(C) 21 .. (D) 1 1 . . - .ffiiTLBiQT - J!> rr Unf.lr 
7 7 
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181. At what rate percent compound interest does a sum of money become nine fold in 2 years? 

182. 

183. 

1t 

(A) 100% 

(C) 300% 

(B) 200% 

(D) 150% 

Bn.l...(BI QJL~q.. QPQ)!Du.Slm. ~® Gp;rrQ)a;UJrrm~ ~IJQn@ ~em(Bia;Giflm ~Girru~ tnLffil<§ ~..tlm!D~ GT~m. 

~p;Girr ruL.~q.. GSp;tb U.Jrr§.J? 

(A) 100% 

(C) 300% 

Simplify: 

w 
.;;(' xYs (B) x}{2 

a;(l9.$(§a;: 

w 
(A) XYs (ll) xJi2 

Find the missing block. 

L 

(A) [SJ ~ 
6l5l(BiuL.L uLtb U.Jrr~? 

L 

(A) [SJ (B) [SJ 

~ 200% 

(D) 150% 

(C) XX 

(C) XX 

1~ 1 L. 1 ? 

(C) [5J 

1~ 1L.1 ? 

(C) [5J 
61 • 

(D) X~ 

(D) X~ 

(D) [SJ 

(D) [SJ 
. JTST3 
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184. Find the greatest number that will divide 43, 91, 183 so as to leave the same remainder in 
ea; ca

4

se. 

~ (B) 7 (C) 9 (D) 8 

43, 91, 183 ~8i1UJ ~~a;mw ~]b~ uSla;u QurflUJ ~~~rr6i> QJ@;Bi@;tb GurrQg~ J5!) lfl!ll!lrra; .slmLBi@;tb? 

(A) 4 (B) 7 (C) 9 (D) 8 

185. The number of number-pairs lying between 40 and 100 with their H.C.F. as 15 is 

(A) 3 (B) 4 (C) 5 (D) 2 

J)uGu(§ Qurr~ a;rriJ~ 15 ~a; @<§Bi@iilliTJ!)l ~~~m~ C:~rr~ ~~a;m 40Bi@;tb lOOBi@;tb @mLC:UJ 

@<§Bi@;tb? 

(A) 3 (C) 5 (D) 2 

186. A, B, C, D start at the same time to run around a circular garden in the same direction. 
A completes a round in 30 minutes, B in 60 minutes, C in 90 minutes and Din 105 minutes. 
After what time will they meet again at the starting point? 

(A) 15 hours 

r/ 21 h~urs 
(B) 10 hours 

(D) 20 hours 

~(§ rul.Ll!lrr~ G!J>rrl...L~m~ a;~!J51 ~GIJ G~IJPi~Gi> ~rurf.Jil A, B, C, D ""6isrururra;m ~GIJ fh)ma:uSl6i> 
s:>(b)iiQTJ!)~IT. fj}(§ (!P<ill!D BT~!& Q!IJ A, B, C, D ""QTUQJrTBi~ ""®~~8; Qa;rr6h~tb a;rrru ~W6l..j Q:PmJDC:UJ 
30 .@uSlLrf.la;m, 60 .@uSlLrf.la;m, 90 .@uSlLrf.la;m l!l~!l)Jt.O 105 .@uSluf.ta;m ~tb. ~QJB;a;u ymG!ftuSlru 

~~fbm~ l!l~di@i LSl!D® @ruira;m J)~(b)tb e:.ffi~uurrira;61T? 

(A) 15 ill~ G~l]tb 

(C) 21 ill~ G~IJtb 

(B) 10 ill~ a~IJtb 

(D) 20 ill~ G~l]tb 

187. Find the greatest number of 4 digits which is divisible by 15, 25, 40 and 75 

.¢ 9600 (B) 3000 

(C) 9800 

(A) 9600 

(C) 9800 
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(D) 8540 

(B) 3000 

(D) 8540 
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188. 

189. 

1t 

Dr. Muthulakshmi Reddy slarted an orphanage known as 

(A) Saraswathi Illam ~ Avvai Illam 

(C) Anbu Illam (D) Lakshmi Illam 

(A) 51]GW@J~ .@Gi.lruL.O 

(C) ~m~ .@Gi.lruL.O 

Match the following : 

List I 

(a) Rajendra Chola I 

(b) Karavela 

(c) Ashoka 

(d) Sam udra Gupta 

(a) (b) (c) ~d) 

(A) 2 4 3 1 

(B) 3 l 2 4 

~ 4 3 1 2 

(D) 1 2 4 3 

s:lflUJrr6; Gurr®~~6; : 

ULLq..UJGi.Jl 

. (a) QP~rurrL.O @1JrrC~,lli~I]C5rr~6irr 

(b) 6;rTI]C@.J ru rr 

(c) ~Ce:rr6;r'r 

(d) S:QP~%l1J®u~rr 

(a) (b) (c) (d) 

(A) 2 4 .3 1 

(B) 3 1 2 4 

(C) 4 3 1 2 

(D) 1 2 4 3 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

(B) · V>GTTQ)@.J .@rurutb 

(D) rul._6;u5) .@ruruL.O 

List II 

Brahma Giri 

Allahabad 

Hathi Kuinbha 

Malpadi 

uLurUJru n 

t.Sli]Li:>LO.$llfl 

~Q)6;1TUIT~ 

~~@)tDUIT 

wrrruurrt.q.. 

63 

I 

JTST3 
[Turn over 



190. Match List I with List II and select the correct answer using the codes given below 

List I List II 

(a) Brahmo Samaj 1. Swami Vivekananda 

(b) Arya Samaj 2. Madame Blavatsky 

(c) Ramakrishna Mission 3. Rajaram Mohan Roy 

(d) Theosophical society 4. Swami Dayanand Saraswathi 

(a) (b) (c) (d) 

V'3 4 1 2 

(B) 3 2 1 4 

(C) 4 1 2 3 

(D) 1 3 4 2 

6l.JrrlQ)e: I fLL6isr 6l.JrrlQ)e: lim Gurr®~thl 6l.JrrlQ)a:s;~.S@.S £wGs;rr(9S;s;uuL..(bl6iT~ Q~rr®ut.Sl615l®Jt~ 

a:rrlUJrr~ Q))Q)LQ)UJ Gp;rfl~ Ga:ws; : 

QjrrlQ)a:I 6l.JrrlQ)<!f fi • 

(a) L.Slrrt.bw a:LDrr~t.b 1. 6fQJ rr u5l Q)) aQJ s; rr QT ,it~ rr 

(b) c!!{hrrltu 6LD rr~ t.b 2. aLDLt.b L.Sl~6l.JfTLGTuffil 

(c) rrrrLD£®~~ uSl~EiUT 3. rrrr~ rr rrrrt.b a LD rr s;6isr rrrrw 

(d) L.SliJt.blDI§fT6JT <!fQ)U 4. 6rQJ rruSl ~tu rr m ,it~ 61JGTu 6l.J p;l 

·(a) (b) (c) (d) 

(A) 3 4 1 2 

(B) 3 2 1 4 

(C) 4 1 2 3 

(D) 1 3 • 4 2 
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191. Match the following river names with suitable options : 

List l List II 

(Ancient Name) (New Name) 

(a) Shutudri 1. Chenab 

(b) Vi pas 2. Sutlej 

(c) Parushini 3. Be as 

(d) Asikini 4. Ravi 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 4 1 3 

(C) 1 4 2 3 

~ 2 3 4 1 

UL~.CtlUWI U~IUQ>!I 

(uQ)~IU Gulllrr) (~~IU GuiUr'r) 

(a) 6r~Pirtl 1. ~61!TITU 

(b) G'6lurr6iu 2. B=LGru~ 

(c) U(5~001 3. t.S'llUJT~ 

(d) ~~tt)Qfil 4. qrr€61 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 4 1 3 

(C) 1 4 2 3 

(D) 2 3 4 1 

65 JTST3 
[Turn over 



192. Arrange the following literary works in Chronological order: 

I. Mudra rakshasa 

II. Mattavilasa Prak.asana 

III. Milindapanho 

IV. Arthasastra 

(A) I, 11, IV, III 

~ IV, · I, I~I. II 

I. (IF~ IJfT IJIT S;~a:t.b 

II. L0~~6151 ru rr a: LSI 1J s;a:mt.b 

III. uS161Sl~~u~~rr 

IV. ~ir~~ 61T~~IJtD 

(A) I, Il, IV, III 

(C) IV, I, III, II 

193. What is the study of Algae called? 

(A) 

(C) 

Physiology 

Mycology 

(A) .".t5151UJrra>~ 

(C) ···~ . mLOS;s;rrru~ 

(B) HI, IV, I, II 

(D) IV, III, I, II 

(B) III, IV, I, II 

(D) IV, TII, I, II 

· ~· 
.... · ~, 

Phycolo·gy 

(D) Pomology 

(B) .".muS;e;rrru~ 

(D) CurrLOrrru~ 

194. Which of these is not among the BRIC Nations? 

# Chile (B) Brazil 

(C) China (D) India 

@6l..lrD!l)l~ ~~ BRlC C~6r6Js;Gifl~ ~ffils;t.b @Q>mQJ? 

(A) 516151 (B) LSICIJ51Q> 

(C) 6~rr (D) @~~UJIT 
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195. Match List I with List II and choose the correct option using the coding scheme given below : 

List I 

(a) National Rural Employment Programme 

(b) Jawahar Rozgar Yojana 

(c) Indira Awaz Yojana 

(d) Prime Minister's.Rozgar Yojana 

(a) (b) (c) (d) 

(A) 4 1 3 2 

(B) 3 4 2 I 

~ 3 4 I 2 

(D) 1 2 3 4 

6lSl~L~lU c:~n-~Q~@.$e;6l..ft.O : 

ul...tq.tulibl 

(a) G~&ltu .$'11JrrLD~!D GGUaH;uGUrruJu~ ~l...Ltb 

(b) ~GU~rr GrJrr~a;rr Gturr~Eirlir 

(c) @~f;l!Jrr ~6l.Jrr~ Gturr~Eirlrr 

(d) tS'lrJ~LD w,[5~rfl GrJrr~e;fr Gturr83Eir11T 

(a) (b) (c) (d) 

(A) 4 I 3 2 

(B) 3 4 2 1 

. (C) 3 4 1 2 

(D) I 2 3 4 
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List II 

I. 1985 

2. 1993 

3. 1980 

4. 1989 

ul...tq.tulib II 

1. 1985 

2. 1993 

3. 1980 

4. 1989 
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196. The name of World's fastest Super Computer, a.,.ounced on June 19, 2012 is 

(A) HCL ~ Sequdia 

(C) Intel 

(A) HCL . 

(C) @mQuu 

(D) Lenova 

(B) Qs:@)aQJITllt-UJIT 

(D) QQ.>CmrrQJtr 

197. · \Vho gave the name "Hindu rate. of growth"? 

(A) Dandekar and Rath q1{ Raj Krishnan 

(C) P.O. Ojha (D) B.S. Minhas 

"{i)f]@ QJQTtT66l 65~w" ~mgJJ QuUJrflLLQJir UJrrrr? 

(A) ~6WL6irT LDW!DJLD {i)rJIT~ (B) {i)IJIT~ .$1(!9~QIMQr 

(C) P.D. ~2BIT (D) B.S. uSlQre;rr~ 

198. Arrange the following countries based on the number of medals won in London Olympics-
2012 in descending order. 

1. Britain 

II. Russia 

III. China 

IV. America 

(A) I, HI, II, IV ~ IV, III, I, 11 

(C) IV, II, I, III (D) IV, I, III, II 

L.S'lmQJ(!!iLD ~rr(£le;m 2 0 12 @Q)61ieru;~flru piQ>LuQ u lD!D ~rol LD L.S'l.$.$1 ru Q u d>!D Q lD U~) ~6liarEiiR!fl8;me;u.Sl Qr 

~t~t-uumLuSlru iJ!Dffil® 6\JrtlQ>auSlru ~@~· 

I. L.S'lrflL.LQr 

II. rJ~UJIT 

Ill. Bmrr 

IV. ~QLDrtl8;e;rr 

(A) I, III, II, IV (B) IV, III, I, 11 

(C) IV, II, I, III (D) IV, I, III, II 
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199. Which article of the constitution provides for the imposition of President's rule in the 
states? 

(A) Article 354 

(B) Article 355 

.¢' Article 356 

(D) Article 357 

(A) QSJ~ 354 

(B) QSJ~ . 355 

(C) QSJ~ 356 .. 
(D) 61S)~ 357 

200. 'Auror&;Borealis', the so called northern lights are due to 

the atomic collision of the trapped cosmic ray particles in the Earth's magnetic field 

· (B) the presence of a special phosphorescent material in the poles 

(C) the interference of solar and terrestrial radiations 

(D) all of the above 
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